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#H : Use &6 to prove lim |z| = [c|.

ﬁ%1V€>0,35:5>Osuchthatif0<|x—c\<5,then‘|x|—|c|‘§|x—c]<5:€.

e

1.

2.

3.

e Bl o FFf o BRL VO > 0,3e. .. BEIEREEAEEHT 10 53 -
Ve > 0 Bk Vo > 0 FIEREE4EHT 10 47 -

AREASKH 6 BB 0 TMENAEI (0 <e) > MBSUEF LRSS - IWHELEES
f15 4% -

EEERET Ve > 0,30 > 0 such that if 0 < |x — ¢| < 0, then “x\ — ]cl‘ < e REEVISKH 6
ooEsAH 0 e A ES > HRFEH=ZAAER > IEREEET 10 7 -

0<|z—cf <dRE 0< > MEX(EFIEHR - HEEEEET 3 5 -

(FEIBIZIEE TR 152 IS 10 4 -
L SAFRER o] - [ < o — o PH < BHE < o BIGESERL -

- FOCHTF PR SR o BIGREIAEAY -

B 5SS ~ PR > EIGTEIEAL Y -
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FEH : Prove that if f : [0,1] — (0,1) is continuous, then there exists ¢ € (0,1) such that
o =c

BE: SR Fo)=fz)—z> R y=f(r) Bly=x P [0,1] FavEEHE > FTLLH
sum rule Al y = (x) W& [0, 1] AYEEpEL -

HNE F(0) = f(0) — f(0)>0,F(1) = f(1) =1 < 0> AT At EEEH (intermediate
value theorem) B[4 : e € (0,1) {15 F(c) =01 F(c) = f(c) —c > FILLA f(c) =
28

1. BTTEERE f(r) = cosw > [LIFEREZFI 7 57 -
2. RERGH F(2) = f(2) — o &F F(r) > MHEERERRENE - ILEREEEN T 7

3. ) T B S R A R BRI () R o TR ERAEREIERE - LET
oA 3 oy

4. A TF(x) 1€ (0,1) F20THaAY , 8RBH F(x) EEaE e - mEer a2 e - [N REHE
H14 4y

5. REH sum rule 5280 F(x) EEEERE - MEEEE N > HLEEEE 3 7 -
6. Rt 1(0), F(1) Z4555% > MHEREREIENE - EEEEAE0 3 7

7. KEH T PE{EERE (intermediate value theorem) ; (ARg@H ~ 3 ) » HART | FHEEEH
IEE 0 3 47 o

8. SIF TEMRERE > R0 -

0. BIFf THESEM (mean value theorem) | » i HERBIZIERE » BLHHREEEHM 5 4
10. GE5RIE F(o) B51F F'(c) > TIELERIBRLIERE » I B 541 3 5

11, BETEE s B RS

12. BT RsE ~ EEPE - BIRTEIHEA
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B : Prove that if lim f(z) =L +#0, and igrrig(x) = 0, then lim

f(z)

does not exist.

T—>C g(x)
W8 | I © B L T %) e BRI M« BN product rule 7T
lin (o) = tim [o(o) x 2
= limgle) < iy T8
= O0xM
= 0.
A iy () = L # 0 #18 - st 10l ) e
=8
L EFHEREN f(r) = 2+ 1,9(a) — o REHAYRATE (ASTEXEB) - PR -

10.

11.

12.

BB EE 4540 10 47 -

THE :lvlgr(ljg(x) =0 FTPIREER quotient rule (5 reciprocal rule) » S KARFRRELE |

BEiEhsE 441 10 57 -

TE L g(a) = 00 BB lim —— = oo IEREREAE 10 5 ¢

g(z)

BB g ooy BEEIRER A 10 5 -

TR R B L i ) g 0 5 -
s im A 2L o im L) e - b 2 10 43 -

- e — 0 meg > (HEAEOLESE - HLFIEE A 10 53 -

- (B e — 6 amag o (EARMUEA TS - EE SR A A 10 71 -

SRS IERE > (HARESEAER product rule BB RS > IEREAEE 3 5
B IERE » (i product rule F51E Ky quotient rule » FEFNEEAEEHI 3 57 -
P TP SRR > BIGMEER (E AR -

R EE T PRS- SIREIREAY -



